(@2 I ) [ S O

SR0 TR — SRR ETH H R

W

EoE = O

. [EEE-36 L OYRE M OBTEMIC =85 R4 2R A LSV,
L RET TN TREZ VRSN,

- RATEER AT, CFESHAITE D X I TECEIR LR &,
CRETHEEIFHLILATTEIZHLRIV,

. - do J OYRE FARICEE ToUE L AU H LI S0y,

. RETH, R EREDIRD Z LIXTEE AL,

YRR = PNES



wD (1) ~ (3) IZEXREN,

(1) AMTOBEREBNIIBWTC, TOfEa, BOM%EDb , +OMEc, —DN%&
d £ 35, WOBIWIZEZ 72 EW,

M1 a+b+c+d=3%W-L, 5 RKREILOBREND YL, &K
DEREZ HLOLDERD IV,

12 N = co+ ¢ 23 L&, BRENERD2I WV,

(2) x,y,z I xty—2z=0, 2x+5y—8z=0 A/~ T IEOEETH D, KDOMW
IZEZ TR,
M3 x:y:z ZROLEHLEBEEOLTRDR IV,
M4 x,y,z ORREKIEERNDREEONIL THLLEE, x,y,z ZTh

FIRD 2 Z 0,

(3) 1o0Y A auz 3EET, HE-HORbRELHE A 295, ROWIZ
BRI,
M5 A = 3&7bERERDRI,

16 A = 2E70MERERDRI,



m, n ZEEOFERE L, 2R f(x)=x2- (2m+5n)x+10mn %2z 5,

ZoEE, LTOMWIEZ R E 0,

11 m=1, n=1 O&&, 2A%EX f(X)<0 ZMREE72I0,

12 n=1 0Lx, 2AERX f(x)<0 Zii=d8E x OEEN6HTHD
m OfEZE T TROR S,

3 m. n 2oV TOFERX f(1)=9 O (mn) 23T X TRDR IV,
4 k % 10 LFTOIEOEE LTS,

m, n IZOWVWTOFEK f(1) =k OB (m,n) BIFELRVE OE%E
FTRTRD 72 E W,

OA=3. OB=4, £0AB=90°T& % AOAB "% V. £AOB D 2%/5% L) AB &

DREE C &35, £, BHHOCIZ B O FALEERY BD 55, =D

L&, LIFORMWIZER RS,

11 cos 2zAOB Dz RD 72 SN,

M2 iAB ORI ZRDHZIVN,

13 #5 BC DEIZRDR IV,

14 #5 0C DEXIZRD7R IV,

15 ABCD Ofgza K7 Z ),



A. B. C. D. E® 5 EORRLAHY . < Ux 1[EBI< L. %Wc‘m% »
FEECEAN 1 S5 LT 5%, UFOMNCAZRS D, 770, 8\

SCIEZDOHEED LIRS LT 5,

11 < UL&2EB|IWEEE, ZORICARGENDIMERE KOS,
12 < U&2EFIWEZEE 2HDOEMNERD LD THIMEREZRD RSN,

13 < UC#x3EGIWeLE, SEORMAALBD 2 THLHMERERD
SV,

14 < UCxSEFIW-EE, 5EOEMNALBECD 3 FEHETHIMERER
ORI,

M5 <UCxT7EEGIW-ZEE, A, B, C, D, EOTRTORMMBPEENTH
LWMERZRDIRE W,



TR TR AR e PR
fi 1 2010 fil 2 1026
3| x:y:z= 2:4:3
4] x= 14 y= 28 zZ= 21
1 !
i 5 3 fi] 6 216
2]
1] 2<x<5b
2| m= _1, 6
F':'Ejg (m,n) - (11 2) ) (_41 O)
a4l k=2, 8, 10
3]
3
1 4 2 \/;
M3 4\/; 4 6\J14
7 7
5 E
7
4]
1 i a2l —
25
3 6 4 6
125 125
fil 5 672
3125
Blss o 115 4




	R7数学（原稿案）1225
	注 意 事 項

	R7数学模範解答_10.9



